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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of ---------- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a --------m- ro finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refirained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was ------—--—-—- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ---------- both help people shed pounds through the same basic mechanism:
(14) ---=------ major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) wtich limit 4) with limiting

15- 1) are expended 2) thet they are expended

3) than you expend 4) to =xpend
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PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
our answer sheet.

Passage 1:

Biological feedstocks offer innovative and better products, and may reduce enviromental
impacts. Indeed industrial biotechnology (IB) advocates boast about the lower net carbon
emissions (since growing the feedstock would subtract carbon dioxide from the atmosphere)
while on the political-economic side, a bioeconomy would rely less on oil imports from parts
of the world deemed less stable.

But there are critics too, who state that the expectations are exaggerated. They argue that IB
remains of little importance for chemical production overall, especially where IB products are
more expensive than alternatives, and that industry should not exploit valuable farmland that
can be used to grow food and feed. In addition, they highlight that the petrochemical industry is
not a key contributor to climate change; of all crude oil that is produced, only about 5% is used
by the petrochemical industry. It does so very efficiently, converting it into useful products first
and eventually into energy when it is burned in incinerators, thus providing double use.

Which of the following is a disadvantage of biological feed stocks?

1) they have a lower net carbon emission.

2) they use valuable farmland.

3) they have lower environmental impact.

4) they are not a key contributor to climate change.

The use of biological feed stocks results in a lower net carbon emission because carbon
dioxide is ----------- in their production.

1) used up 2) released 3) subtracted 4) not involved
According to the text, how does the petrochemical industry produce energy?

1) by contributing to climate change.

2) through the efficient production of end products.

3) through the burning of its products.

4) by using crude oil.

IB advocates are people who ----------- IB.

1) publicize 2) criticize 3) boast about 4) recommend
It can be inferred from the text that a bioeconomy is an economy ----------- .

1) in which oil is replaced by biological feed stocks.
2) which has a net carbon emission.

3) that gives little importance for chemical products.
4) that uses farm lands to grow food and feed.



21-

22-

23-

24-

25-

26-

27-

F anio 364C (alSSH) a3l

Passage 2:

Nearly all chemical reactions in biological systems are catalyzed by specific
macromolecules called enzymes. Some of these reactions, such as the hydration of carbon
dioxide are quite simple. Others, such as the replication of an entire chromosome, are highly
intricate.

Enzymes exhibit enormous catalytic power. They usually increase reaction rates by at least
a million fold. Indeed, chemical transformations in vivo rarely proceed at perceptible rates in
the absence of enzymes. Several thousand enzymes have been characterized.

The striking fact is that nearly all know enzymes are proteins. Thus proteins play the unique
rote of determining the pattern of chemical transformation in biological system.

"Nearly" in the text can be substituted by:

1) "independently” 2) "Closely"
3) "Exactly" 4) "Virtually"
According to the passage:

1) All known proteins have been crystallized.

2) All proteins have catalytic power.

3) All enzymes have catalytic power.

4) Enzymes always increase the reaction rates a million fold.
"intricate' in the text can be substituted by:

1) "accurate" 2) "complex" 3) "moderate" 4) "interesting"

It can be inferred from the passage that:

1) Enzymes are proteinous in nature. 2) Enzymes are small molecules.

3) Enzymes are living organisms. 4) Enzymes only catalyse simple reaction.
""Exhibit" is closest in meaning to:

1) represent 2) include 3) contain 4) show

Passage 3:

Biomass resources include primary, secondary, and tertiary sources. Primary biomass
resources are produced directly by photosynthesis and are taken directly from the land. They
include perennial short-rotation woody crops and herbaceous crops, the seeds of oil crops, and
residues resulting from the harvesting of agricultural crops and forest trees (e.g. wheat straw,
corn stover, and the tops, limbs, and bark from trees).

Secondary biomass resources result from the processing of primary biomass resources
physically (e.g., the production of sawdust in mills), chemically (e.g., black liquor from
pulping processes), or biologically (e.g., manure production by animals). Tertiary biomass
resources are post-consumer residue streams including animal fats and greases, used vegetable
oils, packaging wastes, and construction and demolition debris.

What is the first stage in production of biomass resources?

1) Processing of primary biomass resources physically.

2) Processing of primary biomass resources chemically.

3) Photosynthesis.

4) Processing of primary biomass resources biologically.

What is the closest meaning to perennial in the text?

1) seasonal 2) annual

3) lasting a long time 4) not herbaceous
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28- Which one is not correct according to text?
1) Black liquor comes from pulping processes.
2) Tertiary biomass resources include used vegetable oils.
3) Primary biomass are taken directly from land.
4) Manure production is a chemical process.
29- Which of the following is not considered to be a residue?
1) animal fats and grease. 2) corn stoves
3) vegetable oil 4) tree bark
30- Which one of the following construction/demolition debris can be considered as a tertiary
biomass residue?
1) tile debris 2) brick debris 3) cement debris 4) wood debris
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20 1 50 3 80 3 110 1
21 4 51 1 81 4 111 1
2 3 52 2 82 4 112 2
3 2 53 1 83 1 113 1
24 1 54 2 84 3 114 3
25 4 55 1 85 3 115 4
26 3 56 2 86 1 116 4
27 2 57 3 87 3 117 3
28 4 58 4 88 3 118 3
29 3 59 3 89 4 119 3
30 4 60 4 % 2 120 4
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